
English 8th Class Chapter 7 Online Test

Sr Questions Answers Choice

1 He has done his homework. The tense is.
A. Future perfect
B. Past perfect
C. Present perfect
D. Present indefinite

2 Choose the correct option.He has arrived safely. The underline word is an adverb of
A. Time
B. Place
C. Manner
D. botha a and b

3 He drives a car in high speed. The underline words is a.
A. Noun phrase
B. Adverb phrase
C. Ajective phrae
D. Adverb clause

4 They went where living was comfortable . The underline words is a.
A. Noun phrase
B. Adjective clause
C. Adverb clause
D. Noun clause

5 He ran without looking. The underlined words is a.
A. Adverb phrase
B. Adverb clause
C. Noun phrase
D. Adjective clause

6 You can came whenever you like. The underlinewords is a
A. Noun phrase
B. Adverb clause
C. Adverb phrase
D. Adjective clause

7 He left while I was busy. The underline words is a
A. Adverb phrase
B. Noun clause
C. Adverb clause
D. Adverb phrase

8 Take my four gifts and use each one,Use each wisely, kindly and well,So that upon the
year's last houra worthy record you dateto tell."The word Wisely is a

A. Verb
B. Adverb
C. Adjective
D. Noun

9 Take my four gifts and use each one,Use each wisely, kindly and well,So that upon the
year's last houra worthy record you dateto tell."The meaning of Worthy is

A. Ordinary
B. Extra
C. Odd
D. Precious

10 Take my four gifts and use each one,Use each wisely, kindly and well,So that upon the
year's last houra worthy record you dateto tell."What are teh gifts.

A. dolls
B. new dresses
C. Seasons
D. Watches

11 Take my four gifts and use each one,Use each wisely, kindly and well,So that upon the
year's last houra worthy record you dateto tell."The word take is a.

A. noun
B. verb
C. adjective
D. adverb

12 Take my four gifts and use each one,Use each wisely, kindly and well,So that upon the
year's last houra worthy record you dateto tell."The antonym of use is.

A. reuse
B. Uilyze
C. Spoil
D. save

13 Choose the correct option.She will know the news tomorrow . The tense is.
A. simple present
B. Simple past
C. present continous
D. Simple future

14 It shall be finishing the project in a weak's time. The tense is.

A. Simple present

B. Simple past
C. Present continous
D. Future continous

15 We she all eat all mangoes. The tense is.
A. Simple past
B. Simple future
C. Simple present
D. Future perfect



16 They will play cricket on Sunday. The tense is.
A. Simple future
B. Simple past
C. present continous
D. Future perfect

17 Children will be playing in the park . The tense is.
A. Simple future
B. Future continous
C. Past Perfect
D. Future perfect

18 Fill in the blanks with modal verb.It .............. rain tomorrow.
A. Will
B. Can
C. are
D. is

19 ------------ i come in sir?
A. Can
B. May
C. Could
D. Must

20 He ........... do his homework himself.
A. May
B. Is
C. Should
D. are

21 He---- jump from here
A. Is
B. are
C. was
D. can

22 Tahira....... win the competition as she worked hard.
A. Wil
B. Shall
C. May
D. would

23 ------------ you win the match!
A. Will
B. Shall
C. Can
D. May

24 I know he ............. solve the sum
A. Can
B. could
C. is
D. will

25 Choose the correct option.He is poor but honest. The underlined word is a.
A. verb
B. Noun
C. conjunction
D. adverb

26 I like red and yellow colour. The underlined word is a.
A. Noun
B. adverb
C. conjunction
D. verb

27 He will study until midnight. The underlined word is a.
A. Verb
B. Conjunction
C. Article
D. Noun

28 He will go to market with Ahmed or Rizwan. The underlined word is a.
A. Preposition
B. Verb
C. Adverb
D. Conjuncion

29 He lost the game becauses he did not do any practice. The underline word is a.
A. Verb
B. Article
C. Conjunction
D. Adverb

30 We shall either go for a picnic .. visit our grandma.

A. Or

B. and
C. but
D. because

31 Both hockey............. cricket are famous in Pakistan.
A. or
B. but
C. and
D. Until

32 He is ..... a teacher, but also a singer.
A. and
B. or
C. but
D. not only

33 Ahmad speaks English ...... Shakeel speaks Urdu.
A. but
B. or
C. because



C. because
D. and

34 She likes green colour..... Razia likes blue colour.
A. and
B. but
C. or
D. because


